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35. Which of the following is the graph of the equation

33. In the figure below, ABCD is a square. Points are

34.

chosen on each pair of adjacent sides of ABCD to form
4 congruent right triangles, as shown below. Each of
these has one leg that is twice as long as the other leg.
What fraction of the area of square ABCD is shaded?
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A surveyor‘took and recorded the measurements

shown in the figure below. If the surveyor wants to use
these 3 measurements to calculate the length of the
pond, which of the following would be the most
directly applicable?

The Pythagorean theorem

A formula for the area of a triangle

The ratios for the side lengths of 30°-60°-90°
triangles

The ratios for the side lengths of 45°-45°-90°
triangles

The law of cosines: For any AABC, where a is the
length of the side opposite ZA, b is the length of
the side opposite £B, and ¢ is the length of the
side opposite £LC, a” = b* + ¢* - 2bc cos(ZA)

RO Ee

ACT-58F-PRACTICE

2x +y =4 in the standard (x,y) coordinate plane?

A. D.

36. Which of the following figures in a plane separates it

37.

into half-planes?

A line

A ray

An angle

A point

A line segment

Ao

What is the maximum number of distinct diagonals
that can be drawn in the hexagon shown below?

A, 4
B. 3
C. 6
D. 9
E. 12

GO ON TO THE NEXT PAGE.
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33. In the figure below, ABCD is a square. Points are
chosen on each pair of adjacent sides of ABCD to form
4 congruent right triangles, as shown below. Each of
these has one leg that is twice as long as the other leg.
What fraction of the area of square ABCD is shaded?

A B

X
D 2x ¥y C
1 /
A = e o]
g i P
; 3y
B A
9
v Area o f FBCD
c. 4 s e 3
9 \ (Q@\ ;& . {f;\t%«,} o («%g@“
f y SR
i P
&_:m“?,%
E. & ,
9 A priea ot
[ T L
A . L
TN fﬂ% = 'lz.,(“)'}‘y}!‘) =X
, , 3 \ ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
P e AV A’VQU o{i 4 (crww ok
“aaae g | J
.n»—"""MT """”":;, - i vvvvvvvvvvvvvvvvvvvvvvvvvvv c:;,«sf‘
{grﬁ'\f,/i‘ @/ \:{{ Lo /,! %(Tf"t 041 Sf&r/ ‘M QL s
M SQwU\(g{»«W‘:Cf\i~ f:{ -
- é:: \r{w

34. A surveyor took and recorded the measurements
shown in the figure below. If the surveyor wants to use
these 3 measurements to calculate the length of the
pond, which of the following would be the most
directly applicable?

_F" The Pythagorean theorem

_G7 A formula for the area of a triangle

_FE” The ratios for the side lengths of 30°-60°-90°
triangles

_J= The ratios for the side lengths of 45°-45°-90°
triangles

@The law of cosines: For any AABC, where a is the
length of the side opposite ZA, b is the length of
the side opposite £B, and ¢ is the length of the
side opposite ZC, a* = b + ¢* — 2bc cos(£LA)
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35. Which of the following is the graph of the equation
2x +y = 4 in the standard (x,y) coordinate plane?

@ y
4

36. Which of the following figures in a plane separates it
into half-planes?

A line
G Aray
H. Anangle
J. A point
K. A line segment

37. What is the maximum number of distinct diagonals
that can be drawn in the hexagon shown below?

GO ON TO THE NEXT PAGE.



